Booklet Code AM 2011 D
Time : 3 Hours Marks 160

Instructions :

(1}

(iid

Each question carries one mark.
|2e [B4)5 af Sy Sed.
Choose comect answer 1o the following questions and darken, with HE pencil, the corresponding
digit |, 2, 3 or 4 in the circle pertwining 10 1he question number concerned in (he OMR
Answer Sheel, separately supplied 1o you

Sd alad (28 (RS ROGRE Adrgrddnds BECSLES ol 7
e 2, 3 92 4 I adys OMR J3rgs S|dsnds RS S0
duggio bdid 1B ©idE Jom dabdvn L 4

BOTANY

Study the following lists -

& Jo8 erleools sdgohdo Joled -
List-1

(A} Sex hormone

(B} Cell wall breaking eneyme

(C) Sugary mucilaginous substance

() Nawrally vceurring growth [m'll:-r

i Froeerig

un al zygophores in Rhidzopus
, 1mn of buds in Fusurie
‘i Huulllun in Pieriy

onjugation in Spirogyvra

Do | arfa 1l
(A) Boht 38" 5 rn wpgAodrd® Jubsono
{B) Em ﬂﬁﬂ‘ﬁl QL'.J&_‘LU i i (1 EE‘“::-E::“'" Hooird Dedals SR
bd;}ﬁm
(€) a8 0w e = L 3 )] mﬁ.‘iuﬂi.--u" Toolfen WOy

(V) B8%¢* folitno
(V) oyt fed® Bodiud)o

()
(1¥)
(Hyy - {m
(I
4 an vy

Rough Work
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2. Which of the following pair is correct ?

i1) Epulopiscium  — Spherical shaped
(2) Aguaspirttlum —  Magnetic field
(3} Escherichia - Giram positive
(4) Thiamargarita —  Acanthurus

& ([Bob =8 HOTLES a1

() abhstovhaol — Fysdo
() wrgyteS — wdbdod B o ¢
) Gybhotr — (i =45 \

(4 gEraribe — vsosh

3. Siudy the following lisis with reference to transmission of vi
Listi-1
(A) Foospores ol Tungi
(B) Insccts
() FLongrdorus i
(D) Seceds - me viral discase

v
Sdhes a-g'aanﬂ dgrde ddorm %

z*Dorol Hﬁsl.'-"u::m Sadod -
Do )

(A} l‘ﬂ'uq_ﬁ 85 0w .-.'rgﬂl (I 30 o’
(B} fesen 516 scfi Smyd
(C) erohB'dh . iy e BB
(D) Sdarw (IV) B:388 orgor Soffeod 385 oyb
(V) Bergh Sweront
The
al
(B) (D)
(o ()
vy

(M M avi (V)
@ avy e an o (v

Rough Work
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D\

Study the following table showing the components of water potential of three mesophyll
cells — A, Band C !
AvB Saddn C widnd dords serodd

fere DO780 el ored 3dh
6 fot DYes; sgediane dabod :

I 1he al';uw cells are in dircet contact with each other, then o

rate betwee
=

ity C—=B
() B —A

Cell Osmalic polential Pressure potential
oy Ednde 440 =83 490 P
(MFPa) (MPa)
A 06 02 o
I 3 i ¢
C - 14 [

Sardy foven nf€orDEEY wosuED AD e
dfipe dhomr adddiod

The number of stomats and epid
leaves of A, B, C and D planis are gi
index
A B C Saddin D duHhe 3
o a8 dogro S0

S8do|g nrDds K95

dao

mimn

Sadg wddeSo wa

* area of abaxinl surface of the
ify the plant having the least stomatal

¢ nf SEdly Doy, Zrogod®

e ﬁ-nm-; |Bed adgudod. wd LR

g3 5 -ﬁgnﬁuﬂ '

Hwhcr of Stomala

Number of cpidermal cells

DS Soigro dowpg e 98y Swo nowg
20 100
40 160
30 3
70 560

(2)
(4) A

3R
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6. Study the following combinations and identify the correct matches related to the role of
essential mineral elements in plants :

(I) Sulphur — Stabilization of protein structure

(II) Manganese — Expression of apical dominance

(IIT) Zinc — Activation of IAA oxidase

(IV) Potassium — Maintenance of anion-cation balance in cells

& (800 VI ¥Tros edgonso d0, B os® usigs ada P s
bowofoDd HVOTHS F'doPods HYotod :

) H0)6 - P65 domyerd Poengd) 000 ¢

() S7r0HAD - eErHEgEs IrHowe \ L 2

(1) =05 - TAA ug‘)'c‘iéa’» &éaédi‘nb

(IV) &0 chHS - §oros® eddrs, stooirs dddhe
(1) (11, (1)
(3) (), (V)

7. A student has taken 6000 molecules of F
Aldolase into an enzyme reaction mixture t
substrate was found converted into prod 1 at is the TON of Aldolase and the
total number of trioses formed by the action at the end of 5 minutes ?

ef Vgl w"E ISE dodarad 6000 vmdHe H5'S 1. 6 -
e D)6, 2 emHo o 2 ISES Socgin(§0os'd SETyd. 5
Divare 6HaS 50 TE0 BERITYo &S T e Hrordhd) ST E. wond v o
DB Tho¥) TON IS SEIS Ao BB (TS VPO Dowg Jod ?
(1) 300, 3000 L 2 (2) 300, 6000

(3) 600, 3000 (4) 30, 6000
8. If 8 molecul bulose 1, 5 — bisphosphate molecules are:_oxygenated by RUBISCO,
how m ules are ultimately available to PCR cycle in photosynthetic carbon

0)§ smdos 6D orgor @8 )2TaS TVoddyowd, woddom

A PEA emopHer PCR Hoddrds oxfgdderon ?

(1) 12 (2) 16

(3) 24 (4) 8
Rough Work
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9. The number of ATP required in excess to assimilale atmospheric CO, 1o four molecules of
triose phosphates in €, plants as compared to C, plants is
C, wfof 20y, C, IwHhed' Ednedy Sotrd B oo oerdtned'
COS% Frentls (TS a-h;.d wrodpeotr Fyoffde Dodardd eosonr w5 DG5Ehy
ATPu mogy -
(1 30 (2) 36 4

(3) 60 (4) 24
L 4

10. Assedion (A) @ Reduced Coenzyme formed in the oxidation
for more ATP production in electron trunspo

formed in succinie scid oxidation.
Reason (R)  ©  In the reoxidation of mitochondri ihe number of prowons
translocated Trom maleis 10 i€ 15 less than the protons

translocated when FADH,
RANEo (A) :  pADUE el olyrd
98308 ws: wlyes

a1 ddno Jods A e B2,
R WE g EchEln Todd Drdn B
Dol dornrd hﬁ;ﬁ:"-::_nﬂ-_

foll JEnd AT g
sdmo (R) | et o dain NADH 530 elyide Diuckod® 2088
fod e § oror wishy (@irdoe Sogy FADH, efsis

=BASS paRgo e wily (Ferde Sopg fod S8 3,
The correct one is °

(1) Boith (A} and |

tul: (R} iz not the correct explanation of (A)

=T 4
cado (R) Todr 20TNI s (A)D (R) ROThd Jdde >
HOTLES 53 (R) HOTHSO 5+

(3) (A) SOTHEE 5o =3 (R) S0Tde

) (A)&0cm (R) Bodr H0THID. (A (R) 365D Dide

Rough Work
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The nucleotide sequence on entisense strand of DNA which is transcribed as codon that
specifies the amino acid serine is °

DNA (28 Bofdy FS Ao & SriTrds fho shdplodg udT udo
w855 Brded SHoldoe JdydRgod

(1) TCA (1) AGU

(3) TAC (4) CCC

12.

From the phytohormones given below, ident ch have mutually opposite

influence on Seed germination, stem e¢lo - ﬂ movement respectively :

( IAA (1) GA, {IH}@ Vi ABA (v} CH,
|Bod o83 S 350N oleEhnr M40 wokidn, (Red DEssa
So0din S8do e SolNE & 48 580 Byrdo Srh wdod 36BM
M8odod :
\ g

(I IAA (N =adrds  (IV) ABA (V) CGH,
{IY3—V)
(—1vy (V)
(V) (I—IV)

() (M—(Vy  OD—(vy; iy

Rough Wark
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Study the lollowing lists

& [fob wheods eggahdo duiod |

List-1 List-11
{A) Sesquiterpenc (I Low mcoting in lobacce
(B} Diterpenc (1) Delay in Powio (uber sprontin
{C) Adenine compound () Rool Tormation on steigeiuligiles
(D Indole compound (V) Maore male Howers in )
(V) Enhanced vase Iifp of tl&
aDer | a D 11

2 . 4
(A) dh&_;hﬁy ]
(B) Gebao et o
(C) =835 Sotirio - B
(D) 208'F LoBro _ CRTITE e L

33

The correct match is -
20 HO0TkE £fdoPy :

tA)  (B) ()
ty (i avy v
(2) () (vy (i
(h (.
h iy (1 V)

4.

From which ol the 1
obtained ?
0 (Boo

‘ .
CROssEs, i"l POy I-il'll'rﬁll'lﬁ_ o iy feod vipoar cun be

o So08 J‘i‘lari'; nogg ﬂﬂ‘i'j_ Srlod by wudE

(1) AAbb = wsbb
(IV) AABR = auhb

(@, (m @) (. (1V)
3y (), (IV) (0, ()
Rough Werk
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& Bob wleuid edpadhio Dol :

I15. Swdy the following lists .

Last-1 List-11
(A) Embryoids () Environmental clean up
(H} Gene pollution (1} Molecular farming
(C) Transgemic microbes (1) Super weeds @ \
(D) Bioreactors (I} Artificial \‘
(V) Somac

el | 7 |

(Al Dogrgre

(B} edog srasaigy
(C' ,1.-.:3.15 S0n0d4 :-.l'-ggd.:gl.n g 58 B4 ety oSy el
(1)) wiiduwrgbe (V) 8yBas ddaren

(V) Fargtad Sogge

he correct match s

()
(1)
ooy (i
(3 (V) iy an o av)

4 (¥) () n (1

Rough Work
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16. Single cell protein produced from one of the following microbes is rich in Methionine
(1) Spireling muxima (2} Merhylophilus methlotrophus
(3) Dumaliella salina (4)  Scenedesmus acutis
G |S08 DI 5) O Hrg D Sood 4838 WS Jidn (@IS LpobaSes: whiom
E0A aotood 7

(y Byt Srbyir (2) @S Hel Bt
(3} dorOThe 1D W HREN whgel

17. Which of the following dlst:as: is caused by o fungus ? \ L 2
(1) Yellowing disease of peach (2) Root rot
(3 Exocortosis of Citrus (4} Crowp ea

ol >8d" Fboido seadh b 20 7
th B8 dRHday b , :
(3 Bohs -}E":,s'g"::f;- e B35

18. Study the following combinanons
i1y Linear growith — Interc ¢
() Acrenchyma — B W
(Tl Trichosclereids — shape — Aerial roois of Monstera
(IV) Water stomate — Ciut — Rool pressure
& (Bos Didye @St I L0End Sfdieds MBoded.
mg Soeroo - 0§ 2wl s@bse
283330 - (pires
Smren - Sdaphom acd wsdo - Al ordudd Hﬂg
gren - Dody>rdo - 3% bddo

— Leaf base of grass plant

wnswer is
Thoa sarw
(2) {1y, (Ivy
(3) (1, () (4) (I, (I
Hough Work

IR



ﬁ AM 2011 D

19, ldentify the following plants with reference to the number of phloem strands in their roots -

(A) Nrcotiana (B) Castanea
(C} Riciris D) Crossypinm

S (Bol Iwfjols od JF¢Hd' avd FGE fewreo Poww Do gorme
Mbodod :

X 4

(A) RE'Sgird (B) s Hads \
4

(Y a5 (I3 oraDabhis \ .

The correct match s

2l DoGhd 4ol

A B () (D) (b'
[y 2 ® 5 i |
) 4 2 8§ 3 &

(N 5 | a )
oy B 3 4 d

20, Mentify the plant having Muth 'IR“ petiole and submerged assimilatory rools
(h Ty (2} Bichharmba
i3 Tinos (41 Trapa
pyodse oo, W08 3uIA sod Fyohfdn de i 4O aod ang S
Do
(1} () oFdydr
3y oFFyo 4y Erd
Rough Work
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In a hydrophyte, the submerged leaves compensate for the roots. That plant belongs 1o the
eategory of

(1) Free NMoating hydrophytes

(2) Submerged rooted hydrophvies R Q
(3) Rooted hydrophytes with Moating leaves \

(4) Submerged suspended hydrophytes \ ¢

=g 08 Znd) &t D8 fodn aod S ELAEEE gy & (S0 G50l
dododood,

th dd% fasdarr 4 Zod)y o
£2) A& Zudn acd, ::ﬂlﬁ'dﬁ Enbﬁ%
(3) whyfsmo ol VOS 3T & Py oo

th i Dde' 5adh s GOSN acd Zug e

The number of
total of 128

found similar 1o F, phenotype and genolypes, respectively in a
F. progeny of a Mendelian dihybrid cross -

wo%8 Dofimo 'ﬁh:!’;-, F. Sodd Twudc 12§ ‘:n!;g" F, Sogd
v mAgdrady 05 F, Loddd'de SwEjo dopy Idhm

(1) 48, 32 2 72,32

(3) 48, 24 (4) 72, 48

Rough Work
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3, Study ihe following statcmenis

(A) A homozygous 1all plant is crossed with homozygous dwarl plant
(B} A heterorygous tall plant is selfed

(Cy A heterowygous tall plant is crossed with homozygous dwarf plant
(D) A heterozygous twll plant is crossed with homozygous tall plant

The prabahility of tall chamcter appearing in the progenies in terms of T.H:TE$I tively
would be

& 808 oyppoic wdrahie Dodod
(A) SEdinie A3 Jol) wasdndye g Ton & 5 :_'-!uﬂ
(B) Dad dindys a3 Ju6) S ed)don Dodlo ﬁ

o

(C) J5d diafys SEy SwE) Sdawie &g E.'n Jabudod.
(D) S&ds diwdyz drdd JuE, Pdodlnye @ ﬂ!ﬁnn Ydbhndod.

seddiod dY vice U Doya g ® SED mor dotron
(A) (B} (C)

(1) 75% —  25% —  100% !

(2) 100% — 100% @ 75%

(3) 100 — 75% 100%

(4) N — 100%5
. <

24. Two filaments of fanospora are observed. One of the filaments has |50 cells
another contai A all the cells in both the filaments are involved in asexual
reproducti rilio of new fAlaments developed from them 7

3% Tobd Bod dodePod vekDoSdo =8hol. ef
S 308 dodody 225 Yoo SOA savon. Bos Sodbfodtd
wZofd (Bdps 86" >&oll, 2D B0l WD Vol Y Sode

(1 1:1 (3 3:5
(3 1:2 (4) 2::3

- 1z R
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45. A mule branch of Fumoria has ten antheridia and produced a sum 1otal of 1900 spermatozoids.
What is the number of androcyte mother cells in cach antheridium assuming each of the
antheridia has ithe same number of androcytes 7

wpdoclr Ty of HGL e 30 HeE Deryoiruds 208 | T
barods 0838 Sdw. & (D8 Hoaberidie 553 nopgd' up
aFmyahld erd% (98 HEGDeddod™d wof' g irdgw S

(1 70 (2) 340 \,
(3) 960

i4) 16

2b. Trace the comect sequence ol siages in the ol male gametophyte in Cycas,

stariing from microspore &
(1) Generative cell — Body cell — | -+ Antherozoids

{Z} Tube cell — Antheridial ccll | — Antherozonds
cell = Generative cell

(4) Anthendial cell —» ive'call —» Body cell -+ Antherazoids

0TS 5

bedal €m0 —» 2308 fno -+ 05 Smo —+ dorydE Smo
4) PR Derddh oo o den 88 foo —» BirEno - Hbd D

Rough Work
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Study the tollowing fists :

# (fo8 wDerod wdgohdo dakol -

Last-1 List-11
(A} Armicoer (1l Food for astronauts
(B) Jartropha (1} Medicinal plani
(©) Chiorelia (1) Fibre yielding plant @
(D} Bochmeria {1V} Petro-plant \
(V) Biofertilizer
b1 b 11 ¢
(A) wdys (1) wodd wirdo
(B) =gty (ny ©as
iy ;!"Eg* & Sufy
(i e Sbair
e
The correct ipatch is

28 SeTs &dody
Ay Wy (I
ey iy Yy i {IV)
2y {1y vy (b
3yl am(n ay
(4 (VY vy (il

A swudent o walis plants cach with 36 nodes, |5 Hibiscus plants each with
21 nodes fs plants each with 1] nodes. All these plants contain leaves
every Il be the total number of leaves of these three plants put together 7

SoRe! 36 fmpensy 31 AghsgdD Inod. BN 21
15 ZrDiph Snfjok Hody DAt |1 fwhwd) 77 s ernb
204Doorde. & JoKyol) (B8 fmy 3¢ derods LOA ATy,
& Bofodtd Inde Ievw Dopg Jod 7

(1) 2593 (2) 1585
(3) 237 (4) 4241
Rough Work

14 R
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& (808 eDeods wdechdo Tofod :

29, Study the following lists -

List-1 List-11
(A) Leaflets modified into spiney (1) Teilitum
(B) Succulemt leaves (1} Yueca 4 Q
(C) Whorled phyllorasey (1) Seitle PR \
(1) Epiphylous buds (V) Utex \0
iV Colchicy

e | u-@
(A) Ddsey, Sotsvenn

drdroddo Joddo ¥ !
(B) 83508 Sores @I S
(€) dfab 3@dTgs0 (V) claE)y
(o ﬁLE‘EE?gﬁ Saafien (V) s=0y8&

The correct match is

(D)
(v
(1}
M am av
@ an v am m

Rough Work
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Idemify 1wo correct statements from the following ;
(1) A single male and a few female flowers are present in a flower like inflorescence in

Pounsetlia
(I} Sessile or subsessile Nowers formed in the axils of leaves are crowded @ the nodes in

Leamoiis
(I} In Ficus. a fruit like inflorescence is present with all fenile Nowegs
(I¥} The Aoral axis is sympodial in Hamelia \

G |Bobard Avod Gods HODTRG ogwgols Mo :
() of Phyedd scd ol nddr A jrgted” 24 \auﬁ' £y By
oo (haed' 2834

W oo aotraw,
(I} ortahe® L0868 o aldjod ﬁ.:-e
gmody 36 didm 20 eceron.
() $oc 38 acd DES Huydrgded o
(IV) leDaird Harsgo nm#nﬁum
{0y, (V)
B UTRULY

=7 ..ud e GOt

I (V)
! (1, iy

(1) Lesthyrns Fagelus, Seiflio
{(1¥) Aburddon, Lathyrus, Tagetus

{In eads ovaah, _‘::-lu‘!:]
(V) smdend, erdds, rabo

(1) (1, (1 (2) (1), (1V)
(33 (0, (1) (4) (0 (1Y)

Rough Work

16 R



ﬁ AM 2011 D

32. Thinty sceds each of Doliches, Pisum and Muize are kept for germination in the sail
How many cotyledons are Tound above the 0il and below the soil respectively when all the
sceds germinale ?

FBER. 2H5.. S FSjodt BE LFE’,!'&:I‘:I 30 Ddaren Fudt SuoIsaid
Derds Budo G :Jﬁﬂ'ﬂ::ll Swesad sdnmr do =i Sobcin “ LI HY
Badyvn: gRyron 7 Y 4

i1y a0 60 {3y &0, 90 PR \
(3) 90, 90 (4) 30, 60 \.

(%

uphyte
fore the entry of pollen tube

3. Mentify the correct par of stalements -
{1} The filiform apparatus helps in absorpti
(1} Antipodals are the vegetative cells of gema
(M1} The fusion of two polar muclei &t
(I¥) The largest cell of embryosad '“:@L'II
0 odd TEwpo wdls HY
(I} HOSE5 A08d0 o
(i [Bedrd fmen

(1) ﬁ;ﬁgﬂLﬁ
(IV) iﬁ:bﬂ g

Tanh &ajddot

® buso Sy ik foen

¢ Judydr Sodad [D3riE pdyd edibdos
£'406'0 #8324 Ino

The correc

ald

(hy (. (2) (I, {1y
(33 (0, (V) (4) (mm, (1v)

Rough Work

1T R



ﬁ AM 2011 D

3. A student observed a plant with stellate hairs on vepetstive pany and the fruit dehiseing into

nﬁnnf':c:dnd mericarps, Which one of the following characters is ulse associated with thai
lant

(1) Failure of the germination of pollen grains on the stigmm of the same Mower
(2) Presence of monosiphonous pollen yrains

(3} 3-10 bracteoles forming 8 whorl on the ealvy

(4} Twa carpels n the gynoecium of a lower

riah yrmro Ll S5 esdy e, oils Jgarendy [Uo g Poo A
s of Jovgd Addoods. & Jol vimud® 28 v Wﬁm oS8 7
(h Soridmie o8 HaJed'd bordo s Sness Mg \.
2) J¢ Foded SovdmHew sodbo

(3) G54 JEB0 b8 110 oI Porge Sodam

(4 @53:}#‘3 wudBiod Tod Sedvw

35,

'r.!'l‘ihel four plants (A, 13, C and 1] observed. © ed by Mendel for his hybridization
experiments, while tn "B, Shull found in iny ssion and o Is a day neutral plimt
In *C" Hlugo de Vries discovered mutationsd s WfColluteral vascular bundles and straight
embryos, Identify the characters of - . QIR 13 i correct order

The correct order is

(1} Pulvinus leal base,

Ve Carpellary gynvecium, Septicidal capsule
acarpellary gynoccium, Septifragal capsule

(3) Piston mechamsm, Euste onpcarpellory gynocciom. Swollen placenta

(4) Monudelphous stan ofd. Hicarpellary gymoecim. anilocular ovary
Adono OS5 el (AL B.C Sobalo Dy Ao Dwckd #3 Gofde D@ ress
iy Famr. Abege 0E) wowd B ad wodipeld fodd Ao, s
C" Ty At b dmem Sfmd 1 0gIS3d)s Psyeered. I

oot O A Clslatn D & ool DOLS |S&ed" blodcl.

ol BjEbdo. (ol Bodl) o mo. (BPos¢ weds o, 36 Do dd KE
(2) JFeE BEYT e, Dy Vel Shd Juis wodl'de, Do YO8 MY

(3} BpS dro|Bio, JuEddie Soge. ¥ Iod¢ wodlia, abyd wodargsrio.
(4] 28 wogs Shoe, M8y, Lidodd wods e, D¢ Dudind woarddhe

Rough Work

18 R
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36. Identify the cormect ratiod of the following, related o Bentham and Hooker's elussifestion

of plomts

(A) Mumber of series in Dicotyledonne and monocotyledonae

{B) Number of classes and sub-classes

Hopls. rrdlis 538 306e Joribu Bowododd & Bob gu FoENGOTLA

Randels Hiodod \
(A) 8=8843, Sri'vdlaied’ ame Bowy ¢

4
(B} 8848, a3 ddrido Domg \
The comect mahios anc

2l HOTLS Yo ydien %

(A (B)
il 211 -1 &
(2 11 |

(33, 1 143
4 1 | L

Q

ETF

The ratio of chr number ol pollen gron ol Nicoriana tabacum; endosperm cell of

cell of Allium copa 13

) oS bovdUmdy 2B D8 wekidd )0 doo dobddn wddl
cud'y E'ardS Sopge Tnyd

iy 6:9:4 (2 J:8:2
3) 3:9:2 (4) 4:7:6
Rough Wark

19 R™
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3. A DNA fragment of 204 A was separated by a scientist from the nuclear genome of the
plant. What will be the ratio between the number of two and three hydrogen bonds formed
in the components of this fragment if it comams 40% Adenine

ed wiedd Fofied acd o8t #3585 oD 204 A 55 de DNA
woderny Jd Tards. & woddod® 40% =428 &d)8. o0 shiwese
2a8g aod Tods S:bdn dwrds v 8'ul vogro Dopg :’.uig S Ngos 7

(1) 2:2 2y '1:3
(51 411 4 1:4 P \

39. Identify wrong pair of statements from the [ollowing
() Cell organelles are newly formed in *G," phase ojsegll
il Doubling of chromosomes oceur in 5" phagg ol
(DN The nucler tormed after mewsis-1 are | @
{1V Terminplization occurs in Anaphase ’
& (Bof g D05 ovgwge = A0 W€ od :

(1SS ‘G, 548" Soorrwme ). | (TSRT
(il sedge 'S adg* & oNouy 9ol wipdiod
() ot Dges-| o(fTen O8 D
(V) sy Enﬂ-ﬁ'dm: SestN fE b
(i (1Y) 2y (YY)

\ 4

(3 ik (V) 4y (i

plants which exhibits laticiferous cells and lysigenous cavities respectively

(2} Citrus, Pathos
() NMNerium, Citrus
%280 fore, odberd Lirgiol SUSM @Eb;uﬁ And) o HOTLI (500

() trdodr, DE5 (2) ek el
(3} ES, wOF (4) nbchon DD
Hough Work

R =
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ZOOLOGY

41, Wihich of the following statements are true sboul protostomes
(A} Cleavage spindles or planes are oblique 10 the poim axis of the Zypote
(H) Cleavage spindles or planes are al nght angles 10 the polar axis of the zygote
(C) The Fae of blastomeres o fised early in the development
() The fate of blastomeres is fixed relatively lute in the development
(1) iB) and (1) (2} (A} and (C}) (3) (C) und (D) (41 (B
& (Bod ddt ISPl 2he o) 55 sgesei® LRGN
(A) Q245 doo DHogkes Daly (45 ssdd Jummrg m:pmx
M} D25 Sue Dodnf baly (b8 exid cveallyuoac
(€} sodug be poleo Pgis han‘ﬂﬁ;@ﬁ‘ Swo mﬁ%mnﬂ
(D) Sodwd Oz podere iS huﬂl"ﬂ-ﬁ;}gﬁ* ue 8 i BBy a0l
(1} (B aabae (DY (20 (A) Db (C) () (0) {4} (A)Zeboke (B)
42. Maich the Tollowing -
List 1
(M) Cosmozoe theory ] 15 Pasieur
() Hiogenesis theory ules
(€Y Theory of spontancous genegat My Cuvier
(0 Thaory of cmastraphism IV) Armhenins
(V) Haldane
o el ovda edLrdy
® =e-0l
A () wrosr 3435
(8] e () E&y
() - ngredo () HocE:b
wgrody (IV) el
(V) E‘§5
By (C) (D)
i1 (1} (n (V]
(2y (N vy (V)
€30 iy davy
(43 (Vv ()
Hough Work
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43. One of the following hepatitis is not transmitted parenterally |

(1} Hepatins-B (2) Hepatitis-C

i3} Hepatitis-1» (4) Hepanins-A

& |20b wDBOTod" nid woddd HCE oo DHoEdodds
(1) 20458 2) TSJYS-C

(3) =aD4as-b (4) HBL5-A PN
Dense rregular connective tissue is found in : R

{1} Periosteumn and pericardium
(2) Vocal cords and rrachea

(3) Bone marrow and lymph nodes
(4) Tendons and ligamens

Fobc (5808 LHoTrud fewroo D

(R )] hﬁ;l‘g# dedin Jolcdwn T odrd
(2} =gddopdoee obdde odu v

\
£

(3) ehe S00cn Tadn Seuly
(4) Irycin vodover S0din wBo

45, In Convoluls the tissue present betWen ul and body wall is :
(1) Mesoderm {2) Parenchyma
i3} Botryoidal vissue (4) Mesoplea
fdgorpird’ ol ﬁm’mﬂ-cﬁn 06 Bargh? odpio Suwodsn
(1) S8 g82d 00 (2) do3Zar
S (4 S:ggiaynsss
46, preen gland is
(2) Rhea
(4) Tinemus
&3 £DRdind) JMEdD B 25
(1) %88, ) G
(3) (&'Dabb (4) Sardeh
Rough Wark
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47. ldentify the correct combinutions |
Nutional Park Place Animal Protected
{A) Jim Corbett Rajasthan Tipers
(B) Gir Gujaral Lioms
(C) Kariranga Assaim COinc-homed rhinoceros
(B3} Periyar Ustaranchal ligers and elephants
(1} (B)and (C) (2} (L) and {13
(31 (A) and (D) (4} (A} and (1)
G |Bol o' BOTLS HFyydarede HOoSEw L 4
Fat Tt iy wddo so8foded ﬁﬂrjﬁ\
(A) 25 s o8 TaIw L dposes 4
(By AS Muocd Lot ¢
(C) sadom SN0 sl Baymren
(D) wocirE sddoroSS WEET. ST
(1) (B) S:8ds (C)
(3) (A) 2080 ()
48. In ml!i:lhil. the opening of coronary sinus | precaval vein |5 bound by & fld
called :
(1) Valve of Thebesiug 2) “Mitral Valve
{3} Tricuspid Valve [ Valve ol Eustachinn
Goded® $5'58 B'udo O JILESE'E doacand doR) eadoduiuay
dndidie Jdaolrd
(1) a8%ahs fae (2} od foeds
(3) |89 sas A 4 (4) clarddaEl forsds
49, In a population o ndividunls exhibil a trail {or recessive allele "o’ Find oul the
frequency of and recessive alleles in the population.
(1) o8 (2) 096 and 004
(3) 068 (4) 06 and 04
5000 33 &8 moyrd', 200 2008 3g%heo woddd oine i'Hh Jowebold
& gy, margndt pardd Sobuin wodfd ohof)dfuyre Sdnglgod
AaBodsZn.
(1 08 Jo0dia 02 (2} 09 Ju0ciao 004
(3 068 Safcde 0132 4) 06 Boddiw 04
Rough Work
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80. ldeniily the nolwnne gland from the following :

(1] Maminory glands (2} Sebaceous glands
{31 Laver {4} Pancreas

G (Bos ot FTO'BeN (HodR KidodiSw :

(1 88 Hodhes (2) S35 |Hodse
(3 2o 4 50

8). Idenufy the seouence of ::tcp-a tnvolved during inspiration in rabbit - 0
(A} Yolume of thoracc cavity imireascs
(B) Contragtion of exicna! intevcostal muscles moves the rib cage I'n

E,_

fop mbliit thee tunpifoam papilice

(C) Dnaphraam ecomes ot

(D} Thoracic cavity expands drawing air into lungs \
Dot aoyed |Idhd'D H0TWA B0 Eﬁsn &

(A) adioDdin Jerodod)dod

[B) Jendl ad srodd Lodorn Hof'Hdy 3o
(C) Jgruf Deods wodlHimr eHdo
(D) ad:iirde DFvedahd Sud M9 mE ddidacd
(1} Cr={B)-{A) {5} Al-s{Bi={)

P3Y (A B e (- {12} -+ D)-+{B)=+{C}

buds are distributed

L1y Om ihe vpper surface of (2) Al the base of the longue
(3) At the tides of the base o {4) In the margin of the tongue

Sodos &30 080 AN Soddrol: RPE JoDoroe adyt acdons

i'mnfu.'!:n adydod

(1} imend AL0do L 4 2) ¥ doododt
}) Toor S0 &° (4) Fenf wodhdt
53. Choose the ty uth” parts of insects in which the two labella are interconnected by
Dunon's mgmnb
(1} Pie ing type i2) Sponging type

(3) S (4) Biting and chewing type
o Todd fere I8 yrrodbod: Tods THgreds foipdr “delSy
dgde’’ dotsod ;
(1 &, '!:ni'ﬁ;,ﬂi'u (2) Byoes GEo
(3) Srud dfo (4) Fof snd G
Rough Work
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54. The animal that mostly depends on ‘Metabolic water’ 10 survive for long periods without
drinking water :

(1) Didelphis (2) Ornythorhynchus

(3) Macropus (4) Dipodomys

o oo Q8D evdiSoar s A Bo% 2odw wordDd 20 modkd:
(1) 339y% (2) ©0)5°0055

(3) JrEB% (1) BG5S 4

food ?
(1) Crop (2) Hepatic cae
(3) Mesenteron {4) Gizzard
T'QoES” uHITEY J rddn DO LS &g 337
(1) ss=ydodso
(3) aﬁa;‘sotﬁo

55. Which part of the aiimentary canal in cockroach secretes ptrilmplﬁ {bmne und the
L 4

56. Three-lobed diphycercal tail is the featur
(1) Protopterus ’ eoceratodus

(3) Polypierus Latimeria
S vodfeedy B cercal) PISyarao & (208 TL ofedw
(1) @38 (2) ITWrHds*'ES

(3) &85 1) o8dodr

¢

ibited by Hydroactinia and Pagurus is

§7.
(2) Hyperparasitism

(4) Ecto parasitism

B0 FABIST D FEBod dIraDo (BE0 0w |
§ Do Fufdgo (2) wodoS 2550

od: ddrgagdgo (4) worg Bovdy B350

25 R
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58. In the blood circulation of Pheretima, the blood collected by lateral oesophageal blood

vessel flows into supra oesophageal blood vessels through

(1) Lateral oesophageal hearts and ring vessels

(2) Anterior loops and ring vessels

(3) Lateral hearts and commissural blood vessels

(4) Lateral hearts and anterior loops

POLSr 88 (DI’ Fovysid oS ST vren "agaoﬂa}dg - g0
worgstd SEarwrAE Téds ¢

(1) o zefd s )ddres 0050 Soddh v

(2) Grdg Isgen Hodaln Hodhayren .

(3) 838 T )Sdres H08n HogrchE Tvres

(4) &rdyg Trydadros S0008n Wrogisgen %
Conjugation in ciliate protozoans is cssentia

59,
(1} Gemmation
(2} Regeneration of lost body parts &
(3) Permanent pairing of two individ
(4) Nuclear reorganisation
[Tt ars®d HOTher OTIrAdn Wos) wsigss
(1) 8308 8% (0SS 0)
(2) D3HS8IB oo m% 1 85 e J835698 565
(3) Tod &£Heo oons §d%H
(4) So&%o 8o Vothe®H
60. Tassar s
(1) (2) Bombyx mori
( (4) Antheraea paphia
oI 0 by, &0 2008 PRoSwdrs0d ;
(1) doddask eIYHAB (2) wodEy o
(3) 2S'Foclr TH3 (4) J08TasH ISy
Rough Work
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61. Vermicompost produced by carthworm contains Nitrogen (N) and Phosphorus (P) in this

ratio :
ddrdoo adyd T BY) SoFPdt JEad (N) 0dn dgdo (P)o
Ja)8
(1) 30% N and (S0 adx) 2-04% P (2) 20% N and (83803503 1-04% P
(3) 10% N and (S:8c8x) 3-04% P (4) 60% N and (S:00d) $04%
62. The blood group of a woman is ‘O". She has two brothers: one with ‘A’ gr er

with “B® group. The genotypes of her parents are :

uE .a*:. gy € $do ‘0" uHI) addh Fdsest ?

36°500 ‘B’ Sdo. wond ud SSode wlgsrd x dodron !
(1) 19— 8 @ NP

) B Gl O 4 1°©

63. In which of the following characters Prototheriafs Wsem Q etathenians 7

(1) Presence of single headed ribs, megaleciffial cg#®Wnd Smallest gestation period

(2) Presence of degenecrate corpus callo gehlea and absence of ear pinnae

(3) Presence of epipubic bones. wo ulen male

(4) Presence of abdominal testis and ¢

& BodTadt J vfimedt &rd0ohgS 0 sotrow :

() 28 g B o, Do » B8 853,38 ﬁu'aéﬁs'ﬂi’mudm

(2) =635 3¢5 48 3 SgrIgISnoden, wrEvg W) &3y Yg

FHe

(3) sdzdardion, ddireoy, Soff 20" Ldrddn aodie

(4) a’}ha'a_w AaSdQS Woddt S30Win HOGSN-FEJ0VEEY =ovaind sodd
6d. ty in Nagellum/cilium are

s of outer doublets of microtubules
(4) whitles of axoneme
-. WhEwd" ATP-ase SEg Bo(ddw

(1) SGBoly ddwdd Srf) >08o TwE) BIS dhzw

(2) Swnd é:ﬁ‘.'m-g & doost

(3) &*00 &durst

(4) W HOZS*D Bo@ drE; 0w
Rough Work
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67. Maich the following ;

List I List 01
(A) Zooplanktons (I) Chironomid larvs
(B) Neustons (il) Daphnia
(C) Nekions (1) Water spiders
(D) Benthos (1V) Ranatra

(V) Hydra

& (fo& T2 wd £y Hn |

HgE-1 SQE-13 *
(A) =od Ddsven (f) 363'é ﬁut;'s'ﬂ\
(B) Sagdrd {1 F5 odrs 4
(C) SgSen am da b \0
(D) Booh (V) ovovoe

(V) Zoveg
(Al (B) (C) ()
(r (n (m v
(2) () qm @avy

(3) vy vy

(4) (1) {avy {1y
68. Clenophores have the following syin ( o |

(1) Spherical (£} Pentaradial

(3) Biradial 4\ Radial

dﬁa}ﬂg" 2Hest Fo LS55y

(1) Aorss (2) Doderd agang

(3) Q‘Ed‘g:ﬂ“e’ (4) a*g.ﬂ-g
09. Identify the correct uti&x with rulerence to their larva, ‘urne

(A) Holothuroide Uphtopluicus

(B) Asteroid —  Bipinnaria

(C) Pelecy —  Glochidium

(D) Cep —  Auricularia

(1) (A (2) (B) and (D) (3) (A) and (B) (4; (B) and (T)

doggoNuabom Bodardest DTS 2SE: MBoddn ¢

condalr — LR Tryrddns

(B) od oo — BRI)our

(C) wo&Hdra —  &*Paddo

(D) Do ar — @05 do0sr

(1) (A) 2050 (D) (2) (B) Sobaiw (D) (3) (A) Doch (3) (<} (B) 28dk (C)
Rough Work
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67. Match the following

List 1 bist 11
(A) Zooplanktons (I}  Chironomid larvy
(B) Neustons (It} Daphniu
(C) Nektons (M) Waster spigers
(D) Benthos (IV) Ranatra
(V) Hydru
& (ol araa CL TS PRV
5g§-l Sge-if
(A) 2o Vo5 () 365°E E'iws*e:u
(B) Srg S {11y ar g yoss
(€) SgSe (1 Ses ﬁvi)-v :
(D) Bogn (IV) oo e
(V) ...r-

(A) (B) (C) (D)
(O an  (m (v
(2) ay am  avy
(3) am vy vy @y
@) 1y avy (@

68. Ctenophores have the following 53m|
(1} Spherical l‘Lutura{h al
(3) Biradial -l'r Radiai
859 2Hoe' 5o 2
(1) Afevsd {2) woderd argrg
(3) &Savsé‘g {4) .,.;'-5.:".-'.‘5
69. Identify the correct lias with reforence to their larvel fore
(A) Holothuroi Uphiopluteus
(B) Asteroidea - Bipinnaria
(C) Pelec Glochidium
—  Auricularia
(2) (B) and (D) (3) (A) and (B} (4; (B)and ()
UTOom (800" 5B addS Mmbodidn
— AL TrHrSeHD
—  B:I)ousr
(C) ROHdra — Q‘ﬂdn‘&m
(D) oSt o —  wboH o
(1) (A) 50050 (D) (2) (B) &8asus (D) (3) (A) Sobcks (8) (*; (B)&bdck (C)
Rough Work

29 R



ﬁ AM 2011 D

70. DNA polymerase for industrial use in Polymerase Chain Reaction (PCR) is produced by :
(1) Trichoderma reesi (2) Bacillus licheniformis
(3) Thermus aquaticus (4) Streplococcus pyogenes

FO5TL Fleod dﬁguﬁa &HTIrfon DNA 05T E5 a‘dagaﬁan‘ Ad%0d
ady8 T

(1) BeE'@E 6% (2) erbob ggn@a;‘f‘
(3) I:S'.’iaﬁ Jssﬁﬁﬁ (4) ’gjg‘g‘gfa ‘éﬁr‘éﬁg
_ - L 4
71. Maich the following : \ ¢
List | List 11
(A) Ascending limb of Henle's loop (I) Conc rular filtrate is high
(B) Proximal convoluted tubule ter reabsorption
(€) Collecting tubule able 10 water
(1 IDhistal convoluted tubule ory water reabsorption

& 1808 a0 2dDdihda ;
SgE-1 ::gs‘wu
(A) TR oo (13 rRdiol mdd |ESmdd (0%
Fons' dodsss
(1) JL0E I8 DA ramo
(1) D FofSogd a0

(B) a'ba.,g mosPd

(C) Jo|ire o

(I2)

(V) wafoy =o ‘@d:-ﬁ";‘hﬂo
(D)

(HIy (1)

(h (D

(1v)y ((y

4 dm @ an  av)

Rough Work
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72. Statement (S) : Nematodes exhibit ‘cutely’.

Reason (R) : In nematodes cell divisions cease near the end of embryonic development
so that the number of the cells of the adull is consiant,

(1) Both (§) and (R) are not true

(2) Both (S) and (R) are tree and (R) 15 not & correct cxplanation to (S)
(3) Both (S) and (R) are true and (R) is the correct explanation to (5)
(4) Only (S) is true but not (R)

Tgwg (S) P RS'8e "wrBb" (38000 &

sdmeo (R) : J0EE 2Hodhoth EedPudw Loardd)d 058 o
sag 132" Soren Dowg Do Pso8iss.

(1) (5) So0as® (R) Bodor Dudn 56 \0
(2) (S) So008» (R) Dadn. LHOEH ($)5 (R) 565 )
() () 3000 (R) Vmdw, H0E» ($)% (R) 58 P

(4) (S) Sr@ddn Dudw. {R} s o %

ical region of the ommatidium

(1) Vilmilﬂﬂ. retinulae, rhabdome
(2) Crystalline cone, retinulac, rha
(3) Lenticular cells, rhabdome,
(4) Lenticular cells, vitrell

5808 Jeroddsnd'd 5o (rodSiods aod Qo mrod Hafodidw,
(1) D{_ﬁﬁ. ‘51_& ne o588 dodo

(2) %88 Foskp eRsoren, Sordsd Soddx

(3) s Roradsdodin, ogtlahiw

73. Idmlll'z the fnl[uwmg structures Whll:‘h II'L .
of coc

carpal and metacarpal of thumb in primate mammals is :
(2) Hinge joint

(3 Socket joint (4) Saddle joint
Dy fdorodhod TesTe 3038 Sod wogr¥sH Sgghe Seo D6
(1) Sodsy do (2) S:88 mo& fen
(3) 208 AJ f (4) =8¢ 8o
Rough Work
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75. In diapsid skull of reptiles, the two temporal fossae are separated by these bones to form

the upper temporal bar :
(1) Post-orbital and squamosal (2) Squamosal and jugal
(3) Post-orbital and jugal (4) Post-frontal and squamo

20%)d0 BaIrn)8 PBS* Bods Yop wrerods & QBpEen E‘N__ &g ¢

fow o0y Dﬁgdaq'_w : \ TS

(1) 5638 E‘t.‘ru".'g. Fop oy (2) Hdopod,

(3) s8F ¢ 5‘1‘.:0"'33. fods (4) © L -’iuaw'ﬁc

In the life-cycle of Plasmodium vivax @g&a}r survive for long periods in liver as

76.
dormant stages known as :
(1) Hypnozoites (2) Cryptozoites
(3) Sporozoites 4 (4) Merozoites
FIE00 IMEYENTodS ST sdohod® o sToo $EDH DodrsHet
200 & Sfos: IS0 :
(1) (2) (Eerond)
(3) (4) N&=rondy
Rough Work
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77. Match the following with reference to the insects and diseases

List 1
(A) Aedes (n
(B) Cimex (11)
(C) Psorophora (1)
(D) Musca (1v)
(V)
fvsren B85 TgH0H Jowofod &
SgE-1
(A) 285 ()
(B) _'_’:_»:E\:EJ ()
(C) 36 o (111)
(D) B3, (V)
Ay (B (©) (D)
(hy «m vy  dn v
(2) (V) (v) @am (I
(3) (V) avy @ an
) V) av) @ @
78. Maitch the following :
List 1

()
(1)
(1)
(IV)

(A) Cancer cells
(B) Transcriptional facto
(C) Cyclins
(D} Zypote
& (S0 R ud

beE-1
(A) ()
(B) (1)
(C) (1)
(D) & (IV)

(C)
(1
(11)
(11}
(1)

(D)
(V)
(h
(N
(v)

(B)
(1)
(1
(IV)
(n

(2) (V)
(3) (1
@

List 11
Dermatobiasis
Typhoid
Encephalitis
Bubonic plague
Break bone fever

(Bod D zSLrE S
SgE-11 ¢
355005155 \
Eeronk

- \’

Fosd o
SS0E

O

List 11

DNA replication
Saccharomyces
Telomerase
Totipotent cell

SEE-II

DNA (5858
TE6 HoNs

S o dE
S*3>ToS Zeo
(28348 £mo)

Rough Work
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79. Which of the following statements are correct 7
(A) Diencephalon regulates posture and balance
(B) Cerebral hemispheres control voluntary movements
(C) Medulla oblongata regulates involuntary activities

(D) Cerebellum regulates temperature

(1) (A)and (C) (2) (C) and (D) (3) (B) and (C) 4 VQN
G (Bod argmgost HETWD Fgwgen D8 7 \

(A) ogdftgsn Binpad, DSdessse Dobo@ios ¢ \

(B) W& ¢ Aveen JchoB8 Soardy daHo@Irow ¢

(C) Soerdwwo wdo|Bd Sogod Ddho@ned

(D) wsS%ha 80 F(isse Hobho@hod @
(4) (A)odak (B)

(1} (A)S8cw (€) (2) (C) Hbesw (D) (3
80. Statement (S) : Sex-mfluenced genes tos0 nes in both males and females,

Reason (R)  : The phenotypic expressign o ghiluenced genes is different in different
sexes, dominant in recessive in the other.

(1) Both (S) and (R) are true, a J6.! rrect explanation 1o (S)

(2) Both (S) and (R) are t not the correct explanation 1o (S)

(3) Both (S) and (R) are not

(4) Only (S) is true butfot (R)

3;&;.&:5‘ B8 algHoe dod (Derdd mdgHen.

agwg (S)
s8mo (R) DS adghen DIy Domod® DIy Sydgdrd g 8mois
0A, 08 Dobd dphudt o gSomss, F6E DordE Bods

domrSr aotrow.

(R) Qedn, Hoodddn (S)% (R) POTHS V58w

o (R) Dmdn, $o0c5n (S)E (R) HOTHS ISe s
(3) (8) So8asw (R) Bodr dudw s

(4) (S) 3mS5n dz=dn, (R) 56

Rough Work
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PHYSICS

81. Two cylinders A and B, fitted with pistons. A and B contain equal moles of an ideal
monoatomic gas at 400 K. Piston in A is free 10 move, while piston in B is held fixed. Same
amount of heat is given to the gas in each cylinder. If the rise in temperature of the gas in A

5
15 42 K, then the increase in the temperature of the gasin B s, (y = :j'] .
OBrS Brdy £ONS J¥BOSrm &) sosug 400 K 58 Swj o8
Dhodnds A S0dn B grdrod® ad)6. AS*D Snhofsy Y Sofpd..
BS'D) Swhofsn ¥dofHoa sodwdid, Todk prdrostd )
G I FVJIPB, A JrOBNS'T wrcsnd) adfdés® ®danise ©woud
» _ 5 \ 4
B 37582080 sraind) SFASS” Dhde. (y= 34
(1) 35K (2) 42K
0K
82. The temperature of a perfect black body is 7273 and 01 m®. If Stefan's constant
is 567 * 107" W/m? k', then heat radiated by is -
(1) 1701 cal cal
(3) 102060 cal , U6 cal
wf DOWPG )& Shy edis - Wodn oD Fwogsn 01 md LS
PoreEse 567 « 1078 wim? k! E P 03 Dvhdwed* DEsnsn Jahads
aRod ;
(1) 1701 3¢6*s (2) 17010 2s%a
(3). 102060 S0 (4) 10206 2%
B3. A source of so velength 50 cm is moving away from a stationary observer
1
with Elh - Then what is the wavelength of sound heard by the observer
a8 &g 0 em ddodBggo de §ad 8838 ddr dovdsost ey
1
20 0D &rdom &g FMod' — Bok 348 Assost ey,
50 O3 §g 8804 Bggo dod 2
(1) 55 ¢m (2) 40 cm
60 ¢m (4) 70 cm
Rough Work
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84. Two identical flutes produce fundamental notes of frequency 300 Hz at 27°C. If the temperature
of the air in one of the flutes is increased to 31°C. the number of beats heard per second
will be :

God DOgRdrargs SxdPes 27°C S48 300 Hzo FRRIgo do (FEHY
pgoredy adydyo ddon. o w600 wf oD O eSS 31°CS

WoNd, DESHS Do JbyodTe dowg :
A

(1 3
(3) 1 4 4

an angie 60° with the normal. The angle of incidence on glass sib is. [give

4
M= 31:
Lf e 05 & DY 38 6388, 0 Ho8 D

vowod' 60" S'mo Whr HS5H00356. b
[Bezodo, p, = 15,0, = 3] : %

=

- il 3
w (5] 9 ]
93 MENS
(3) sin [_IE J [T]
86. A thin bi-convex lens of fo is made of glass of refractive index 1-S. When
it is dipped in a liquid of re g it acts as :

Convex lens of
(4) Concave le

S8g8S © M8 SAEr&HTobndd desdd 8gHoyrsd oF

9
& Sosd) S8gss Msso g (o B506° SuoDIP, o
(5507308
fo DHowsd £b¥o 35T
fo YPirsd Sbio 59

(3) 3 ma‘z,fgaédu o SHogrsed €080 40
(4) 15 em Fgodde Ho Prsd Ebfo 50

Rough Work




ii AM 2011 D

87. When a light of wavelength 4000 A in vacuum travels through the same thickness in
diamond and water separately, the difference in the number of waves is 200. Find the

5 4
thickness, if refractive indices of diamond and water are 3 and 3 respectively :

drdgod édudgggu 4000 A o 508 2.8 Sroddy Ko SlEsn S NSt

Qa3 DErdoddiHd Sbomre ﬁomsﬁ' dar 200 sond, @ S0Qod?

4

5
Sesn Hode I8 SEFSs Mheso S&HHm > angu 3

(1) 0-685 mm 2y 00685 \ *

(3) 685 mm (4) 685 mm
88. Two polarizers have their axes inclined at 45° to cach o larized light of intensity
| is incident on the first polarizer, then the i ight through second polarizer

is :
Bod (Hodn s*0v vz o ﬁa:ﬁsﬁ‘ma S5m0 05 DS Tobdd
®$08 s0d B¥d | wond, a'mrs-ﬂ "o (DIESThg sod

s158,

LS lo
U % @ 3
(3) 1 (4) 0

and magnetic moment 1 Am? is placed along the side AB of an
ABC. If the length of sides AB is 10 cm, the magnetic induction at

o (Bgbao sy fheo AB Job sodardy HHzo AB FEH
owd, Dol € 54 wchdpod (bis :

(1) 1w7’T 2) 10°T
(3,04 T 4 1w
Rough Work
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90. Match the following physical quantities with their respective dimensional formula :

(a) Angular Momentum
(b) Impulse
(c) Pressure
(d) Power

() ML

() [MLT]
(g) [MLT™)
(h) [ML7'T?

Bod Frag ool 88 Dowolodd M i?‘ﬁagﬂ*é' ﬁé.?:"

(a) §*cdosy |SSgInsn
(b) (PS*ESH0

(€) DHaHs»

(d) >$>¢ g

41-1441‘}: (b}-(g); (c)-(h); (d}-(e)

(3) (a)-{g); (b)~(h): (c)-(D): (d)-(e)

91. Two vectors are (A+B)
5

(1) cos™'(A/B)

(3) vos I[A;
A+

(A +B)

(& ML @

(0 [MLAT|

(g) [MLT!
aiy

\0

'inglc between their resultant vector and A

(2) cos'(B/A)

e

~-B)eo Bods HaFws. I8 DOS Ko, A D0IH Dy

(2) cos'(B/A)

(4) Ardgsdn

Rough Work
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A ball is dropped into a well. The water level in the well is at a depth ‘h’ below the top.
If the speed of sound is v, then after what time the splash of sound is heard ?

af 208 wrdS*E BETohwdss. v IS B Sod VY Hbdn ‘h' Sfded
o, ¢ TAdn v vond Jod sodw dHhard wod HED ais EETEY
(Splash of Sound) Dsndodocd :

2 1
o {5
7 |
) "[ﬁJ

93. The acceleration of 3 kg mass in figure shown i

SbdnS® Srdadd, 3 kgo (G#gord T

L 4
2kg 3kg
(1) (2) Zero
s* downwards Jﬂ')/ 34 m/s® downwards

(1) 3! m/s® 8 (2) Ardgdo

(3) 162 m/s? Bod (4) 3% m/s? |Bos%
Rough Work
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94. A bullet is lired normally towards an immovable wooden block. It loses 25% of its kinetic
encrgy in penctrating through a thickness *x of the plank. The total thickness penetrated by
the bullet into the block is :

§30TD o8 Fahgddy B vowont uf wBE Doyudis. vb 8Iys*E X
Siodo S8R é‘o::é.]}da R A8 -i!d‘ 25% S Tondl. BIE08

288 T Rdond Tude dodo :
el @ 6 . .
(3) 8x 4) 2x

hn@:unuul. At the
e of the pieces
piece immediately

95. A shell is fired from a cannon with a velocity *v" at an angle ‘0
heighest point in its path it explodes into two pieces of equal
retraces ils path and reaches the cannon. Then the velocity of
aller collision is

LE Doeh Hod E Mol Vv Fdsns
dosuder Doyodio. 6o &5 Srgy o
fo dxSH oo 20Dcuio. ol Mﬁa
838, 003 TJosd Bodd l‘mﬁ&

il) 2vicos® —vms[l
( v cos B (4) v cosl

96. A uniform metal dise eter@®4 cm is taken and out of it a disc of diameter 8 cm is
cut off from the ri The centre of mass of the remaining part will be at -

(1) Left side, 2 ¢ centre (2) Right side, | em from the centre

(3) Right side, m the centre (4} Left side, | em from the centre

2508 'Y Hyesd DY)B BWED o' HLAFY 0S¢
gRdn fo Jyevsd DE % 5800055 ADS prAsy Tws

S 848 0 Eoswn
oty DIFrS Lda’aswhﬂa
Srdod® (Basrdod HEOAD

(1) W8589, So|8dw Hod 2em B¢  (2) HAFZY, SoEsSn S0d | cm 5
(3) £43%, So¥dn %0d 2 om 54 y&&gﬁ;. Sodn Lol | om 3¢

Rough Work
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£
A uniform chain of length */* is placed on a rough table, with its length ;{n >1) hanging

over the edge of the table. If the chain just begins to slide off the table by itself, the
coefficient of friction between the chain and the table is

[ 285 5D, 25:68m a3d) 28 Fevde nf A8% 20D dodwdSd. ol

FaHst %tﬂ:'l] Fridn we woddiod 30&;&0-‘.‘;1& ¥ 3y Weods

ddodoeiom po %03 oD hgiﬁ-:an' ad)Dpd. bodh £ Sy
Ao Ddo Hofdu Dwd ¢

| , \0
L ey @/}f__i 6
n-1
B} =

n+l

placed side by side, touching cach

{wo circular rings of equal mass (m) and r
gential axis in the plane of system

v
other. The moment of inertia of the sy . ap @
passing through point of comtact of is
w8 (BHgord ‘m’ Bo0aln ‘»& Qo dyensd OoMes o8 il
w88 N (D5 (243 waHa. dodo Bady Dodsl) dowr FEr
S55% Sood® SRS & S350 2488 (prdafde -

!

3
(1) Zmr

2 2) 6mr’

Jj)/]mr’

m rolls without sliding on a_horizontal surface, starting from rest,
constant acceleration 6 rad/s”. The distance travelled by the center
=0twl=13sis;

Ao w8 JEsn 8 birodd dodn ;dhoar 8'¢r825)6.
00 2deod0d SE3n 6 ndls 8 SEE0s® IOoSnSHSB.
g 1=3s 08 SES0 SDod Erdsw :

25 m

(3) 18 m (4) Zero (473 g5)

41 R
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100. A body is projected vertically upwards from the surface of the earth with a velocity equal

to 3 th escape velocity of earth. If ‘R’ is the radius of earth, the maximum height attained

by the body is :

rd 40080Sn 08 2 SWH dgdowHm B, Frd ﬁﬁ-&’;—jﬁ &

=, Sod FAS50s® HEDoSwAIA. Frd: Tg>gsn ‘RO@sond, o W BT

4
K0% I8 dend :

\ 4

101. The time period of a simpl tion is 85, ALt =0, it s at ils equilibrium position

The ratio of distances travers it in the first and second seconds s |

o®m08; Bowsds sosn 8 -0 £ ed o
8 nEod, Todd WELS' (DArdods Srdswe Jh38:

w8 DEY¥ Trod

@ 5

Rough Work
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102. An Aluminium and Copper wire of same cross sectional area but having lengths in the ratio
2 : 1 are joined end 10 end. This composite wire is hung from a rigid support and a load
1s suspended from the free end. If the increase in length of the composite wire is 2:1 mm,
the increase in lengths of Aluminium and Copper wires are : [Y,, = 20x10"" N/m® and
Y, = 12210 Nim?)
2:3@8Ho Va8 €0, ¥ Siggdyd Brogin do ©oogdU g0 ¢80 o*n
e ¥ BH o8 OdSw Keod 235D & IS A 8 &4
s ESes Dhodad, Dl m ad) Bods I Fod whD ﬁNuaaa.
S ES 84 e’ swddn wdMde 21 mm oogfododio, o
dde PdHos® DhMdow

[Y,y =20 = 10" N/m? and Y, = 12 x 10" Nim?|
(1Y 7 mm; 1'4 mm ;
(3 10 mm; 1) mm . m

103. The sutface energy ol a hquid drop s E.
surface encrgy is

&8 |da Dodud) anlec 1000 2308 WS (@& Dodieorr

AdupedId wdypa: %8
el 108

(th 100 E
(3 E Y 3 (4) 1000 E

into 1000 equal droplets. Then their

104. A hguid
radius of

two capillary tubes A and B connected in series. The length and
that of A The ratio of pressure difference across A and across B is :
835 Tods B0 A 50050 Bo orgor 2.8 [idn [53%H08.
aY S0din sgrdin A od Sor) TgoR. ADSCe Sodg S0
o Sgy LES Igegdive VAP ¢

(1 4 @ 2
(3 1 @) A
Rough Work
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105. At 10°C, the value of the density of a fixed mass of an ideal gas divided by its pressure is
*x". At 110°C this ratio is :

10°C 8¢ Q& (88gor8 Mo a8 ©86) arddnd) Foddd ol bEss

grhodm 3035 Deod X 110°C $& & da)a :
L 4

Q

10 383
M o @ 55 S

110 83
ST Wi—si

106, When a liquid, lilled in two vessels A an olumes, is heated, the coelMicients

of apparent expansions of the liquids e y, and y, respectively If a be the

n the coefficient ol linear expansion of B will

coefficient of lincar expansion

be :

o ¥ONT Tody g A, Bod® Jobadd af ([Samdy =a
S Mmstos Sdanm Yo ¥ H00k0 A Tiws) 8dg
wond B Ting) Egg 5:'55‘:5 Koo ¢

RITI DS WIDO
ToIPd (88

YooY
@ 5o
A Y 3=
GJ"'_L?‘L"“I ) |3 t-o
Rough Work
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107. P-V diagram of an ideal gas is shown in figure. Work done by the gas in the process ABCD
s

&8 o086y sdad Wy PV Jur OEsn 0358 SrondSs. ABCD
(REche® srauHd 20a5 22

Pt ¢

2 N \
.!'\H ;I

P '-:—"-’jz"l \ L 2

(1) 2pV,

E:’*] Pﬂ""'llﬂ & i
li@d “T" at a place in a vibration magnetometer.

¢ in the frame one over the other out ol which one

108. A bar magnet of moment M give

Four such similar bar mag;

28 03 ek

o5 (88dost 00 1. wirod groady HEyT doardadr oamods
8o oS LomrSr, ast ¥ eI 08y ol Fyareo $33TKom
Go&as SoVT . whds B uddS stoo

( (2 2T

(3) T (4) 2T

Rough Work
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109, Four positive point charges ( 4q) are kept at the four corners ol a square of side */*. The net

[
electric field at the midpoint of any one side ol the square is, ['ﬂk" e K] :

e,

areadfy ¢X Do eTaes (Hg) Hadn FEH I do SSHIPH Joo 3¢

soBadIron. & SSHHY IBI 8 Hao T Dodyg ﬂOt’.‘%ﬁ) &

1
—=Ku;&:§‘c&) : P \

(3) 572

88

110, Consider a parallel plate capacitor of ¢ca

the plates is filled partly with a diriccirm

new capacity ol the capacitor is (A 4 ar " plates) |
mOE Jons 2drodd Do S 5o
S8 b |BTeIy >

A/4
air
ra
dielectric
'dZo
(1) 20 pF (2) 40 pF
(3) 25 pF ‘gu/zs uF

ed with air. When the gap between
ic constant 4, as shown in figurc, the

Ging) 3SrD4 10 pF wibod. wode
Srbdeem, 8a¥ Roroto 4 do §'@Eos
&Y, Ed A dese Fwego)

Rough Work
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I11. In the circuit shown in figure, the ammeter shows 5 A current, voltmeter shows 250 V and
the internal resistance of the voltmeter is 2500 Q, then the value of R is -

D0oS® DS Sechost uﬁhabS SA (DaEey, S‘%n DbE 250 Vido S DT ow.
Sfoo Dowrs P8y ©0d8)8°%0 2500 Q wond, R Jens

(DT ¢

4

(1) 150 Q

3) 510 Q 4)

@r’ is connected to a resistor of resistance ‘rl'

ain time ‘t’. When the same battery is connected
', the same quantity of heat is produced in the same time

112. A battery of emf ‘E’ and internal
and Q Joules of heat is pr
to another resistor of resistan
‘t". Then, the value of ‘1’ is :

B:G‘QSO T o ¥ argb, T A8'So Ko IS8
U $*Q YY) a0 4838 wowod. vl wrg®dd ‘ry
A8*S0 Ko VTSV 03P U0, 0B S0 T S wod 808 4833

Ddasz:r- o¥ aoo

( (2) —;"("lﬂ‘z)
(3) Jq1, 4) 6
Rough Work
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In a thermocouple, cold junction is at 0°C, hot junction is at °C. The graph drawn between
thermo-emf (E) and temperature of the hot junction (t) is represented by the equation,
E = at + bt’. If a = —224b, the neutral and the inversion temperatures of the thermocouple
respectively, in degree celsius are :

a¥ ﬁfgdﬁmﬁg’ocﬁ" Ho0 Dod e (S 0°C 38 Hod aP(ds °C. R ddgor ol

woo (E), F8 %08 &S (Do o8y A (mRI® ©¥Emo, E =g bs*
drDowduhy. a = -224b wond, ¢ shdud Y S6Y, DTSRG
S&dmr, 3 2SS’ /

(1) 224, 448 @y 112, 224 4

(3) 448, 224 4) 224, 112

114,

1S

D555 b, D Tod
Dend 1T, wond && So&

r o Ho Hyesed 2P B8 ©°g0
Do) ¢ 8BS wchIyod T &
)

O ?
0 .

®50 D So¥o Hod J3r &rfos’

47

LE,
16

|
(3) 8T (4) E,'1‘

115.

ected to a source of alternating emf 50 V and if the potential
or and capacitor are 90 V and 60 V respectively, the potential

S0 g $0d FPTIHS dav,
(1) 400 V m

(3) 80V (4) 1600 V

Rough Work
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A long straight vertical conductor carries a current of 8 A in the upward direction. What s
the magnitude of the resultant magnetic induction at a point in the horizonial plane at a
distance of 4 cm from the conductor towards South ?

(The horizontal component of earth's magnetic induction = 4 » 0= T)

4
&

af ddad YAy o Ko Gide 84S 8 A Ddaaéa_‘ (@ .
B8z Ldrosy wohdmod (5 (&) |Dée wofo =4 * ST e d8x
Rirodd duod®, SEmo SR T80 S0 4em J_‘ﬂad::gj S8

$04 W) od |wde DiSrmo Jod 2

(N 22 x0T

(3) 410571

117,

When two electrons enter j
different circular paths, in s
I 107 ms™ is the velocity

field with different velocities, they deflect in
the radius of on¢ path is double that of the other,
¢ electron in smaller circle of radius 2 * 10~ m. The

Fod® wdS5350 Todeon. ¥ Do W) Fgrgo
TgI g8 0goD. Jog S Fdo 1 x 107 ms™! C LR £
TSR 2x 107 m wond IFE 538 BBt o S Fdo :
7 ms~! (2) 4 % 10% ms™!

(3) 3//1:1? ms™! (4) 2 10° ms™!

49 R
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118. When a light of photons of energy 4-2 ¢V is incident on a metallic sphere of radius 10 em
and work function 2-4 eV, photoelectrons are emitted. The number of photoelectrons liberated

1
before the emission is stopped, is (¢ = 16107 C and z = 9x10? N-m*/coulomb?) :

'I'IE“

48 42 ¢V o 508 P& Se, 10 cm Sgrgo, 24 cVe B pdgngo of

Y o BdS0 TWolsiHd =od Jogriiw agriighHet.

ondTh Swod S6% ddSethy so8 Jogide Doy, {& o1 ¢
4

| = 010" Nom2 .
B30 as Ty 9x10% N-m?/coulomb?) | \‘
(1) 625 =108 (2) 125 = 107
A r2sx 0 -7 (4) 625

119. Two deuterium nuclei each of mass ‘'m’, fuse 1og
an energy E. I *¢ is the veloeity uflighl th
w546,8 'm' dS5gord do Tods
W Oalio Sodfon 363&5&)
Bo|B¥o Twe) (Bdgod

Helium nucleus, releasing
elium nucleus formed will be :

pf SoiSsren Doddo Tod, af
15 E. wQd 28385 Oa%o

E
(1) 1111+:i- (2} ;;;JT

(4)

E
(3) m+ o2

120. A zener diode voliag
of 110V and 2
the load

1201

npurnmd in the range 120-180 V produces a constant supply
the load. If the maximum current is to be equally shared between
the values of series resistance (Ry) and load resistance (R, ) are :
'ﬂd‘ 50 9% auf 356 ﬂgﬁ Joko(sso T.;;d adoo 110 Veida,
o8 D60l ad~d Y06, H0Q Ddgdygararo, 8 26'So
So Sy wdvom doSs'sos0d, (I 6'¢o (Ry, 378 6o
doddohd Jewdw

(R,)

(1) R, =709; R, =280 Q (R, =440 Q; R = 140 0
(3) R, =140 ©; Ry = 440 O (4) R, =280 Ry =700
Rough Work
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CHEMISTRY

121. CH +0, —> X 20 .y

X and Y are respectively :

(1) Digzonide, Glycol (2) Triozonide, Glyoxalic acid
Q/Iﬁ?)zz[:mide, Glyoxal (4) Monoozonide, Oxaligaci

X $5:805» Yoo $&%a

(1) 3e235, Bs°S ) B9as*36E, ges':,!)&aﬁx
() B9eE'36, GusyS (4) BrSfest3 e\ﬁumgm

122. Which one of the following exhibits enantiomerism ?
& (808 >8S* B ITYTWrZobzody (HEB ¥

X\

4)" H;C-CH, -CBr, - CH,

(1) BrCH,-CH,~CH, - CH,Br

(3) H,C-CH,-CH,~CH,_Br

123. Phosgene is formed slowly e of the following on exposure to air and sunlight ?

(Bod 28¢° BID O %8 D838 S* sodm FOES S50 28 YE08067?
(Jl\/éi H Cl (3) H,C OH (4) CHLCI

124. The order of Phenol (1), Nitrobenzene (2) and Benzene (3) towards nitration is :

(2) $08d5n Bods e JFFaS BSrlod EHodo :
@ @>3)>0 9/(1;(3»(2) @ H)>@>0)

H,N - NH, / KOH (2) H,/Ni
(3) Sn/ HCI (4) LiAlH,
Rough Work
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126, The pK, values of four carboxylic acids are 4-76, 4-19, 023 and 3-41 respectively. The pK 3
value of strongest carboxylic acid among them is ;

ooty 5038108 widro pK, Jodes Sdhdme 476, 4419, 023 S:0a50 34,

TOS* w8208 voBS srovE08 aa'-::_:::;»!a. PK, deod :
(1) 419 (2) 341 0-23 4) 47

PS

127. Nitrobenzene on reduction using Zinc in alkaline medium results in *X" ber of

sigma (o) and pi (x) bonds in *X" is : 2

(& DodS% 2088 gEdrsLos® Kaddnmo Toso0s WK’ MadRsos. X't

de by’ (o) H0dwn ' (1) wogro wowpg : p

() 24a,7n 2) 40,6 n (3) 270, _w-”i} a. 6 n
128. Which one of the following is.#fer a biopoly

(1) Cellulose _’[})’)N;I:rné (4) DNA

& |Bod o8& 2TIOSHE D &

(1) Deoge's 2) 3o @ 3303 (4) DNA

S met correct 7
ly occurring a-amino acids are optically active
axingum solubility at their isoelectric poim

129. Which one of the following s

(1) cept Glycine all
a-Amino acids have

(3) A tripeptide

D0 DOTHIS & ?

A0S Db 0-dDS wire ¢)PSeseds Hod

g8 Do&hy $¢ a-dnS edre (dddhd K8Gom aodS
(3) By Eﬁd‘ Bod 1‘-25 vogren Eod).

(4) a-008 wire 2305 sdrdomr aotron

Rough Work
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130. Which one of the following is an artificial sweetening agent ?
& (800 @8d° KBS 8% vordsn 6 2

OCOCH,

. Crm )
O

foas \ S

" Q. QP

ST QS

HC  CH,
CH \\lcﬁf‘r
I 3 /' "\.\\

~N-CH-C-N-CH 5
H g H \Cf
I

HC  CH,

Rough Work
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131. The volume in ml. of 0-1 M solution of NaOH required to completely neutralize 100 ml.
of 0-3 M solution of H,PO, is :

100 D.0.0 03 M HPO, (cdmsnss Lrom S64560MHos%H sdobs 01 M.

NaOH [ordm D05905rm0 0.0.086 Jod ?
(1) 60 (2), 600 (3) 300

132. Match the following :—
Bod T8 z=d DESD» —

List-1 List-11 0
(A) Potential of Hydrogen H 076V
electrode at pH = 10 (Iy 0-0
(B) Cu** | Cu ﬂll}
(C) Zn | Zn**
2303RT

D) =5
Lol Dol
(A) pH = 10 ég _’_prLﬁ‘zS @ {Ii 076 V

JofeE SBYRE (I 0059
(B) Cu®' | Cu (I = 0591 V
(C) Zn | Zn** N (IV)0:337 V

2303RT

(V) — 0:76 V

vy
(I (@vy (@ (1
(4) (V) (O @av) (an

Rough Work
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133, If the values of A, of NH,Cl, NaOH and NaCl are 130, 217 and 109 ohm™ - cm? - equiv-!
respectively, the A of NH,OH in ohm™ - em? - equiv! is

NHCL NaOH So0css NaCl A, Ddwsdes  S6am 130, 217 Ss0css
109457 - 0.5 - dhorgoso™ wond NH,OH S8y A_ 4557 - 20,507 doumgotoet

Jo&? 4
(lyz{ () 196 3) 22 (49045
. 4

pystalbizes @ body centred

134. The number of unit cells present in 39 grams of Potassium if i
cube is : (N = Avogadro number, At, wi. of Potassium = 39

wod:So(0d Da¥ast aaejégﬁﬂa Bod 39 iy
Lﬁ" ‘éfml;:g. ardye

Bost a5y dSrE

wdu womg Jdod 7 (N= el Gde0 errdo = 39)

i
M 5

(4) N

135. Which one of the following is true for ¢ reaction A== B, if E_and E are the

activation energies of forward lmns respectively ?

AT B o oL 3rdd S8, Ejoo 386300 96y S0y 3684
S6go adal fHe e 6 a8d' I8 doTHIE 2

(1) E > E, I: = E,

(3) E[=_Eh L":l:

136. If the equilibri for the reaction 2 AR A, + B, is 49, what is the equilibrium

conslant

o . | |
2AB + B, 38y Tog) .:éaa'.ga woro¥Sn 49 sowd AB = 3 A, 4 3 B,

5) R™ew8 DorokSn Jdod ?
L L

M @ 5 @ 2 ) 49

Rough Work
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137. The pH of 0-05 M acetic acid is :

(K, =2x107%)
005 M QW85 sdide pH:
(K, = 2x107)
1 2 @ 1 *
3) 107 _ @ 3 . \
*
138. What is the entropy change in J.K™' during the melting of s of ice at 0° C ?

(Latent heat of fusion of ice = 330 J.g"}
273 e, 00 0°C $¢ ¥0NIE do|s: A%K"es‘ dod 2
(o Lﬁazﬁaﬂiﬁ haradn = 330 Jegh

(1) 330
3) 33

139. Which one of the following ht line for Freundlich adsorption isotherm 7

_x..vsll
m P

(2)

x
— Vs, P
(4) =

x 1
@) 7 po 4y

@) ;— P o Sg

Rough Work
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140. Which property among the following is same for both hydrogen and deuterium

molecules ?
(1) Bond cnergy (2) Melting point
(3) Boiling poim (4 ond length
|Bod o8& @ S8 5% W @'=28 Sodn doglouo wmedod gasrson
(1) wog4g (2) (SDYES Fdo
(3) w‘hgﬁ?&ﬁ F3a (4) notﬁggso’
141. In which of the following reactions hydrogen is iberatet L 2
(1) reaction ol [used NaOll with C reaction gf N3 sulphur
(3) heating the concentrated NaOF with Si(4) reaction wth NaOH
(Bod Sdged® B¢ W G'al ddise s
(1) €& Aod NaOH Sdg <
(3) Si & mg NaOH% Jaddosne 2o Sdg

142. Which one of the Tollowing statementsis
(1) 1ssan boron is amorphous

L2¥" The reaction between boron cent@dted HNO, gives N,O
{3} Amorphous boron on he@ting oxyvgen forms BID]

(4) Boron is @ non-conductor oty

Bed DESme® Do

(1) 3roxndrs &

following 1s a correct set ?
(2)  Graphite, sp’
(4) Graphite, sp2
EVrast Do HoTNS HmaE 2

(1Y 8508, sp’ (2 S, sp’
(3) BBwG, sp (4) |8, sp?
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144. The total number of o and = bonds in pyrophosphoric acid are respectively :
Eﬁﬁ'@‘:ﬁ‘gﬁs’a‘;goé‘& Bwdo o 8w n wodo Dowg SdRo
(1) 8 2 (2) 10,2 12,2 (4) B 4

145. What are the products formed when moist chlorine gas is reacted with hypo %

S 88 65 and) $83 Sosd DEyas [Edsraxged I
(1 Na,S0,, S. HCI (2) Na,SO,. 5. HC|
(3) Na,$,0,, Na,$0,, HCI (4) Na S0 NgCl HCI

(O

147. The hybridization of Xe and the number pairs of clectrons on it in XeF, are -

XeF &' Xe Dofbédndn & % $) 2obd Jogin moby Dowpg:
(1 sp’d®, | (2) sp'd?, ) spd, 2 spid?, 1
148. Identify the order in which théQgpin only magnetic moment (in BM) increases for the

following four ions . .
DIR SrEE wobhdmod wrddse (BMods®) o

¢

146. What is the bond angle (OCI0) in CIO, ?

CI0,6* nogEmo (OCI0) Jo& 7
(1) 90° 2) 120°

& 1808 oo
L!;ﬁa';}l rb{}_o

(i Tt (1) Cu** (1V) v

(2) =1, 11, 111
(1 | N A"A

e of the following oxides is reduced by water gas to obtain the metal during its
extraction ?

& (30D eF y8od' TOD el mgss Kuhidnmo mlod S'EER) Do ds?
NiO (2) Zn0O (3) WO, (4) Fe,0,

Rough Work
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150. Which air pollutant is responsible for Bhopal gas tragedy ?

S ookn SfudHh mOS' J -swohg sEESH TEwdn 7
(1) PIC (2) CFC MIC 4y CO

151, (016 gms of an organic compound containing sulphur produces 0:233 gms of BaSQ entage

of sulphur in the compound is : P

famq‘jﬁ'm 200 ad) 016 e 8633 ‘éﬁa;#:&ﬁw 0-233 Lﬂ'.t;ﬂaﬂ{]& 0358,
".aﬁaa# 550 ‘-’cr::ra,E e RV .

(1),-20 (2) 80 (3) 50 \ (4) 10

152, Assertion (A) :  Cyclohexane is the most stable Cyel
Reason (R) : Cyclopropane and cyclobutag 6 s le due to angle strain and
torsional strain. ’
I'he correct answer is :
,(Jf)ét'h (A) and (R) are true but (R}@ rrect explanation of (A)

(2) (A) 15 true bul (R) is not tru
(3) (A) is notl true but (R) i
(4) Both {A) and (R) are true
AS30 (A) @ BE SN 8st WIS Rddgdn Lod,

5 D0osn DE'urgdSor e (Dalrd Hodn LrdsS
ode eHEII.

(R) is the correet explanation of (A)

s*Swo (R)

(1 ( (R)eos H0THSD S:8050 (A)H (R) 200he Did6m s
oRd st (R) 200036 s&

(3) (A) 20THI8 58 572 (R) DooHI38

(4) (A) $20805» (R)es PO DLW N0 (A)S (R) 2000d Jddm
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153. Which one of the following frequencies of radiation (in Hz) has a wavclength of
600 nm 7

& (808 @ I PIgE» (Hzod®) do IEEmdih 600 nm SSonB g gdw

aodady ?
(1) 2:0x10" (2) 5-0x10'° (3) 2:0x10" /{iy!-/*

154, According to Bohr's theorv, which one of the following values dF angular entum of
hydrogen atom is not permitted ?

$°6 Borodin (D5°0Ew, (800 adgedd - (E'ad D

F8 desdos® 8 uBrd Trigdn stdy ? (b
25h h (-5h
-y/l 4y —

ES @ 5 *

155. Which one of the following is correct A&m ionization potential of Na, Ne, Mg
and Al ?

Na, Ne, Mg $:8d50 Ale DEEm dsye DETHDS (EHdn J8 7

{2) Ne < Al < Na < Mg

4 (4) Na < Mg < Ne < Al

(1) Al <Na<Mg<N
y,.mé;m:m

N Nm and O atoms in :N = N == 0: are respectively :

ar I

O: [ps*ddn Ny Nigy 320080 0 ddarape F616 vdTw S&hdm

(1y +1.=1,0 \)ZJ/;LH.U (3) +L.+1,0 4 -1;-1.0

Rough Work
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IS7. In which of the following pairs, the central atoms have the same number of lone pairs of
electrons ?

Bobards® D =850 HEse SrmdHeo oE Dopg Mo 2060 Jogys
zoboly HO7 adya ?

(1) PCl, BrF, ﬁ" I () XeF, ClO; (4)
. 4

I58. 19 grams of a mixiure containing NaHCO, and Na,CO, on complet
I"12 lit of CO, at STP. The weight of the remaining solid was®5-9 g W

(in g) of anf(l; in the mixture before heating ? \0
NaHCO, $:0 080 Na,CO,e0 £00 a3y 19 rswe Do\ ¥ 38 Svsya

1112 6g CO, STP 3¢ ddconcsd. 1AD o ¢ wdo 159 |,

DIB0d" I&ToherdE Swoss ady Na,CO, mod') Jod 2
(1) 84 (2) 159 0 ) 106
159. Under which one of the following ¢ 10Ng( al gases approach the ideal pas

behaviour ?

(1) Low temperature and high pre
(2) High temperature and hi r
w3} High temperature and low

(4) Low temperature an

& (508 2 BOH&pet I @DIYPe BSTy TN (DIEIS HSbodhsy 7
() 88,5 & S J&p38 LSS

(2) 88 o IS bEIsswn

Ot S35 LASS»

S S0asn 858 HaISe

160, ol the following is the ratio of the lowering of vapour pressure of 001 M aqueous

ns of BaCl,, NaCl and AI:{S{},‘}J respectively ?
0:1 M BaCl,, NaCl $:6 as» Al(80,), 2o (*Saivos wraybds DENS S
S 8ol 2 L8 aodosy 2

y-’s:z;ﬁ 2) §:2:3 3 $:322 4) 2:3:5

Rough Work
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